/ /Wl v ose L3 grd) doya)l dSlan)l
3 Olusly 1y,aall Searine ESUR 1T
S8 Q6 1 casall 3l Aoy ealasl) doladl 8)laYl
Ol=apw 3 M]”nlstrqoffducutlon a""')“u
Ayl
a Al e

3 olsly / (Slsimall) I Jaill pags oo sl

(a5 128, ) s lan S domonsall B 5] 1o 15

s 3 3 o Bokadl @y, seidesl -1

A=| =2 3 -1
5 -8 2 12
2 (c —8 (b —1 (a
3 X 4 45| o 3 Bghumall_polic sae S -2
e 10 (C ole 7 (b e 12 (a
S s —-12 8 6 .
L = ~SE 13| -
5R ded U9l ) R [—16 4 19 cab 13 -3
[—7 13 11] (c —-60 40 30 2 (b [—60 40 30 (a
—-11 9 24 —-80 20 0 9 —80 20 95
' A— B 85i,00| 35 0 5 X 3 43| o (ghimn A, B i3] -4
3xX2(c 5x3 (b 3xX5 (a
Asxa " Busy 0 00 Wl 50000l 45y axgl -5
Oiae pe LAl Juol> (C 4x 4 (b 3x2 (a
1 3 -5 [2 3
[ - ] 2 =8| il ddes e AWl Bghmnll 45y o -6
4 -2 0
1 7
2X2 (c 2x3 (b 3x2 (a
PP EREN RN
=-112 (c =—-70 (b =22 (a
_ 5x — 6y =15 R . . ..
|C| = 38 ol lkle 3x + dy = —29 ,Jﬁbfod_cls Jlexiwl L})J\ (hUa_J\& -8
(7,6) (c (—3,—=5) (b (—2,4) (a
................ LSjLwJ u,wjj.” Ub).la_éﬂahcwisuﬁ 49_9.&40}:3554}-5_” 49_9.&44& -9
50 (c 0 (b 1 (a
2 X 2 4yl o BA>9 Adgasae (p AW B gamall ($1-10
1 0 0 0 1 1
[0 1] (c [o of [1 @

@)}H sl




1=8,80 F)  Zablal luall plof (L) Aodle g cdompomall 8yluad) alol () dadle w3 U1l

(4=
BdacYl sde (Solug Bgdall sue lgd 0550 (& (p Ayl dgaimall ()] -1
g 43))1 Log) OB 13] Jadidg 13) Lagoylo of (pidginmn gozr oS ()| -2
L) 4 gasnall g s Solug J 9V 8 gamall Baact sue O 13) lagdg 3] (idginas Lpo oSer ()| -3
|A| 5000 A ddgamallsa=a) 30,0 ()| -4
(G RS Bgasmall puls | jae (S9lud o Adgauma Bodme dad BB ()| -5
i (%Jw,a»folbﬁoﬁ,w@w)L@Lyﬁs\@@%@oﬁaﬁ)db gLJLU‘d‘}uJ\
—4: 2 g U 0 8
NN |
[—3 9} [o 0 0] [8 -5 2 4] {—1] *
1)
gl
- 116 2] . _[-4 —11 ... ]
Gl 3 ggwyskju,A_[_g 8],5_[_3 _7],wgbl )l Jlgd)

2A - 3B A+B




R : 1 3 =5 2 3

= G-H b, G=| | H=]—2 —8[ o815l ipualsdt digu
4 -2 0
1 7
: 8 —4 4
Sheged 0 =5 —8|adnddxgl:ijeoludl gl
3 4 11

2x2 &éijJ\ Bdd>xe dij\)tbéil\ pacld dwp
edlgs B A:[; :5] Bgasmall 3 )l ) sl syl Jigd

/Tl @las ,, 30530L U (Blges ,, Abwd) gl




